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16~18cm 17,500 — 17,000 — — —
20cmbL _E 13,500 — — — — —
3m | 16~20cm — — - — 17,6001 27,000
22~28cm — — — — 15,0001 26,000
30cmPL oo - — - - 18,8001 240,000
13cmLL - — - — 9,000 —
16~22cm 17,800 — - — — -
[ONDXS 22~28cm — — — — 16,000{ 24,000
4dm | 20~22cm — — 16,000 — — —
24~28cm 16,000 — — — — —
30cmlL | 14,500 — 15,000 — — —
30cmbh ot - — - — 19,500 45,000
16~18cm 22,000 — — — - -
6m | 18~20cm — — — — 25,000 120,000
16~20cm — — 22,000 — — —
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24~28cm — — 8,500 — — -
30cmlh k= — — 8,500 — — —
30cmPL oo — — — — 9,000 —
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Am 24~28cm — — 12,000 — — —
OHZ 30cmbL k- — - 13,000 18,900 - —
5m | 30cmPL I — — — 20,900 — —
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